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Section : Child Development and Pedagogy

Q.1 Which of the following practice by a teacher is detrimental for a constructive
teaching-learning process?

Options 1. Giving 'black stars' to motivate non-performing students
2. Assessing learning using multiple modes
3. Being sensitive and considerate to the social context of learners.

4. Considering students pace of learning while assigning them work.

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.2 Should intuitive thinking be encouraged in the classroom?
Options 1. Yes, children’s intuitions and guesses help them develop their cognitive reasoning.
2. Yes, but teachers should immediately tell correct answers to the students.
3. No, intuitive thinking is subjective and non-scientific.

4. No, intuitions are mere conjectives and need to be discarded.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.3 To encourage meaningful learning students should be motivated to set
goals rather than goals.

Options 1. learning ; performance
2. performance ; learning
3. failure avoiding ; failure accepting
4. failure accepting ; failure avoiding

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.4 Learning is significantly affected by personal as well as enviromental factors. Which
of the following statement is correct in this context?

Options 1. Interest and community both are enviromental factors.
2. Religion and attention both are personal factors.
3. Age and school both are enviromental factors.

4. Aptitude and attitude both are personal factors.

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.5 To ensure 'assessment for learning' a teacher should -
Options 1. Only give yes-no questions in an assessment test.
2. analyse the work of each child and determine the gaps in their learning.
3. make comparisons amongst students based on their grades.
4. test the recall capacity of children on a paper-pencil test.

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.6 A child in the classroom hits his/her classmates in the same way that he/she has
seen being punished at home. This is an example of -

Options 1. Humanistic learning
2. Constructivism
3. Observational learning

4. Social construction

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.7 Which of the following is a critique of Piaget's theory?

Options 1. Piaget underestimated the capacities of children in pre-operational stage.
2. Piaget viewed the process of development as continous.

3. Piaget did not understand children as actively constructing knowledge.

4. Piaget did not believe children to be intelligent beings.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.8 In a socio-constructivist frame, learning and knowledge is-
Options 1. transmitted by the teacher to the learners.

2. directed and dictated only by the textbooks.

3. co-constructed by the learners with support from the teachers.
4. discovered independently by the learners.

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.9 How can a conducive classroom ethos for learning be created for students with
learning disabilities?

Options 1. Having zero tolerance for errors and mistakes
2. Following rigid curriculum

3. Using diverse pedagogical strategies.

4. Ensuring standardized assessment.

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.10

Assertion (A): Having a diverse classroom with students from varied social,
economic and cultural backgrounds enriches the learning experiences of all
students.

Reason (R): Only students with visual / hearing impairment and learning disability
benefit from inclusion.

Choose the correct option-

Options 1. Both (A) and (R) are false.

2. (A) is true but (R) is false.
3. Both (A) and (R) are true but (R) is not the correct explanation of (A).
4. Both (A) and (R) are true and (R) is the correct explanation of (A).

Question Type : MCQ

Status : Answered

Chosen Option : 2

Q.11

Match the following procedures of problem solving with their description-

(A) Algorithm (i) keeping in mind solutions of problems similar to the problem at
hand.

(B) Heuiristic (ii) step by step prescribed solution of a problem
(C) Analogy (iii) dividing a problem into sub-goals and then solving each sub-goals.

(D) Means-end analysis (iv) a general strategy leading to the correct answer

Options 1. (A)-<(iii), (B)-(ii), (C)-(i), (D)-(iv)

2. (A)-(iv), (B)-(iii), (C)-(i), (D)-(i)
3. (A)-(ii), (B)-(iv), (C)-(i), (D)-(iii)
4. (A)-(0), (B)-(iv), (C)-(ii).(D)-(iv)

Question Type : MCQ

Status : Answered

Chosen Option : 1

Q.12

Assertion(A): Using a set of visuals followed by discussions based on learner's prior
experience, helps learners to build conceptual understanding.

Reason(R): Learner's actively construct their own knowledge by connecting new
ideas to existing ideas on the basis of materials / activities presented to them.

Choose the correct option-

Options 1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are false.
3. Both (A) and (R) are true but (R) is not the correct explanation of (A).
4. (A) is true but (R) is false.

Question Type : MCQ

Status : Answered

Chosen Option : 3

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode 1//CBSE212/CBSE212S12D23019/16425176878125211/211530924...

3/68



1/23/22, 7:02 PM https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1/CBSE212/CBSE212S12D23019/16425176878...

Q.13 According to Lev Vygotsky, new knowledge is constructed in a zone between-
Options 1. What a child knows and is capable of knowing
2. What a child knows and what is much beyond her reach.
3. What a child wants to know and what the teacher thinks she should know
4. What a child wants to know and what her parents think she should know.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.14 Assertion(A): It is difficult to make generalized claims about children and childhood
because there is so much of multiplicity.

Reason(R): Childhood is a socio-cultural construct.

Choose the correct option-
Options 1. Both (A) and (R) are false.

2. Both (A) and (R) are true and (R) is the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are true but (R) is not the correct explanation of (A).

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.15 To provide a conducive environment for learning a teacher should:

Options 1. Consider that there is no relationship between emotions and cognitive aspects.
2. Focus only on cognitive aspects and ignore emotions of students.

3. Consider that emotional and cognitive aspects influence each other.

4. Focus only on emotions of students and ignore cognitive aspects.

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.16 What pedagogical provisions should a teacher make for a student with visual
impairment?

Options 1. Give a lot of visual demonstrations.
2. Use a lot of fine print material
3. Do a lot of blackboard work.

4. Give a lot of verbal cues to create opportunitiesto imagine.

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.17 As per Lawrence Kohlberg, children's moral reasoning is controlled by external
rewards or punishments in which stage?

Options 1. Moral relativism
2. Pre conventional
3. Conventional

4. Post conventional

Question Type : MCQ
Status : Answered
Chosen Option : 2

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1/CBSE212/CBSE212S12D23019/16425176878125211/211530924... 4/68



1/23/22, 7:02 PM https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1/CBSE212/CBSE212S12D23019/16425176878...

Q.18 To ensure learning of first-generation school goers, teachers should-
Options 1. have no exceptions from them since many of them are 'uneducable’'.

2. make separate sections for them since these children would negatively influence the
other children.

3. instill the fear of failure in them so that they work under stress and anxiety.

4. familiarize the learners with the language and culture of the school while respecting their
culture.

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.19 A child centred classroom would-
(i) have provisioning for a lot of resources.
(ii) be based on flexible grouping
(iii) use textbook as the only source of knowledge
(iv) have children as active participants.
(v) follow a rigidly structured curriculum and employ summative assessment.

Options 1. (i) (iii) (v)
2. (i) (ii) (iv)
3. (i) (iv) (v)
4. (i) (iii) (iv)

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.20 As per the theory of Howard Gardner-
Options 1. intelligence is a generic ability that depends on accumulated knowledge and experience.

2. intelligence can be divided into several independent intelligences each one of which has
a unique biological basis.

3. intelligence can be categorized into three primary mental abilities.
4. intelligence is a unitary construct.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.21 The direction and sequence of development are similar for every child but each child
develops at her own rate. Which principle of child development does this illustrate?

Options 1. Linearity
2. Individuality
3. Discontinuity
4. Uniformity

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.22 Children learnin a way and not in a way.
Options 1. unstructured ; constructivist
2. mechanistic ; constructivist
3. linear ; spiral
4. spiral ; linear

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.23 What do errors in students work indicate?
Options 1. Student's thinking is qualitatively diferent from adults.
2. Students inferior cognitive capabilities as compared with other peers
3. Student's demotivation since learning is totally contingent upon external rewards.
4. Student's inability for meaning-making without direct instruction from adults.

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.24 Gifted learners can be identified by-
(i) their willingness to take up challenging tasks
(ii) their inability to work without extrinsic motivation
(iii) originality of thoughts
(iv) ability to think of multiple solutions
Options 1. (iii) (iv)
2. (i) (iii) (iv)
3. (i) (ii)
4. (i) (ii) (iii) (iv)

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.25 The holistic 360 degree multi-dimensional report suggested by National Educational
Policy 2020 proposes-

Options 1. assessment of rote memorization skills.

2. grading of children on the basis of paper-pencil tests.
3. inclusion of self-asessment and peer-assessment.

4. summative assessment.

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.26 According to Jean Piaget, human baby is born with some instincts and reflexes
termed as -

Options 1. Schemas

2. Operations

3. Mind maps

4. Accommodations

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.27 What should a teacher do in a classroom that has learners from diverse linguistic
backgrounds?

Options 1. Create a culture of appreciation by encouraging them to to talk about their language and
dialect.

2. Penalize learners whenever they speak in their mother tongue.
3. Tell the students to speak only in the standard langauge precribed by the school.
4. Ask the students from marginalized community to enrol in home tutions.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.28 How can a teacher promote gender stereotype flexibility in her classroom?

Options 1. By having gender appropriate expectations- girls to excel in languages and boys in
maths.

2. By giving gender specific learning tasks to boys and girls that they are genetically
programmed for.

3. By encouraging girls towards 'feminine' traits and roles; and boys towards 'masculine’.
4. By presenting role models of people in 'non-stereotypical sex roles'.

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.29 Which of the following statement is a correct explanation of the processes of
socialization of a child?

Options 1. Child's potential is a definite result of unfolding of genetic materials.
2. Child can be shaped and moduled completely by social enviroment.
3. Children's development is a complex interplay of hereditary and enviromental factors.

4. Children's development is determined solely by his/her destiny and neither heredity nor
enviroment play a role.

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.30 Identify the correct chronological order of Piaget's stages of development:
Options 1. Sensorimotor, Pre-operational, concrete operational, formal-operational.
2. Pre-operational, sensory-motor, concrete operational, formal operational.
3. Formal operational, concrete operational, pre-operational,sensorimotor
4. Concrete operational, Formal operational, pre-operational,sensorimotor

Question Type : MCQ
Status : Answered
Chosen Option : 2

Section : Social Studies or Social Science
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Q.1 Read the following two statements and choose the appropriate option.

Statement A: Pietra dura are coloured stones placed in depressions carved into
marble or sands stones.

Statement B: Shah Jahan used these in Red Fort to emphasise connection between
royal justice and imperial court.
Options 1. Both A and B are false
2. Both A and B are true
3. Alis false and B is true
4. Ais true and B is false

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.2 Milpa, Roca, Ladang are different names for :
Options 1. Varieties of Maize
2. Commercial grain farming
3. Varieties of Rice
4. Shifting cultivation

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.3 The teacher organises 3 weeks of teaching on 'Can wars be prevented'. During the
study she may discuss the psychology of war prevention, economic arguments,
political arguments. The teacher is adopting the following approach:

Options 1. Multi-disciplinary approach
2. Co-relational Approach

3. Integrated Approach

4. Unit based approach

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.4 Match the continent given in Column | with Column Il
Column | Column |l
A Africa i) World's longest river
B Antarctica ii) World's largest river
C Australia iii) No permanent human settlement

D South America iv) Island continent
Options 1. A -ii, B -iii, C -i, D -iv

2. A i, B -iv, C -ii, D -iii

3. A -ii, B -iv, C -iii, D -i

4. A-i, B -iii, C-iv, D -ii

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.5 Power shared among different organs of government such as the legislature,
executive and judiciary is called

Options 1. vertical distribution of power
2. federal distribution of power
3. lateral distribution of power

4. horizontal distribution of powers

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.6 Which is the longest latitude on the globe ?
Options 1. Tropic of Cancer
2. Equator
3. Tropic of Capricorn
4. Arctic circle

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.7 End text questions in Social Science textbooks aim to
A. revise the main concepts of the chapter

B. provide opportunities to answer in own words
Options 1. Both Aand B

2.0nly A

3.0nly B

4. Neither A nor B

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.8 Which of the following problem is mostly faced by social science teachers?

Options 1. Specific objectives that delimits teaching towards remember / knowledge levels of
learning.

2. Excessive workload due to dearth of teachers.
3. Less availability of text books and reference materials.
4. Lack of experimental setup and resources at schools.

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.9 Which of the following reasons would you give to discuss the decline of the Indian
steel and iron metallurgy under colonial India ?

A. Defeat of nawabs and rajas by the British resulted in imports from England
B. New forest laws prohibited people from entering reserved forests to collect
woods.

Options 1. Neither A nor B
2.0Only A
3. Both Aand B
4.0nly B

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.10 Which of the following is true with reference to implicit curriculum ?
Options 1. Students develop feeling of responsibility while working on group assignment.
2. Students learn the concept of longitude and latitude in the classroom.

3. Students understand the concept of labour while working on an activity designed for the
same concept.

4. Students learn democratic process while role playing the election activities.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.11 Erode's bi-weekly cloth market, one of the largest cloth markets in the world is
located in which of the following states?

Options 1. Kerala

2. Andhra Pradesh
3. Karnataka

4. Tamil Nadu

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.12 Which of the following is an aspect of Monarchy?

Options 1. The final decision making power is in the hands of the people.

2. People can raise questions about the decisions the monarch takes
3. Monarch has absolute powers to rule the country

4. The citizens are allowed to elect their own monarch

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.13 Which example is inappropriate for developing the concept of Air pollution?
Options 1. A 30 day date of air quality index

2. Use of few newspaper cuttings on the visibility of Himalayas from various places in India
3. Details of increase in the number of sparrows

4. Discussion on use of polythene bags in local stores

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.14 Which of the following statements are true about the relevance of critical thinking in
social science education?

A. Stimulates questions and criticisms in pursuit of truth
B. Helps in following one's own aspirations and ambitions
C. Helps follow others aspirations and goals

D. Free the learners from ignorance and confusion

E. Free learners from unjustified claims about ideas and reality
Options 1. B, Cand D

2.A,Dand E

3.C,D,and E

4.A,BandC

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.15 Consider the statements A and B and choose the correct option given below.

Statement A: During the British period the furnaces in most Indian villages fell into
disuse

Statement B : One of the reasons was the new forest laws that the colonial
government had enacted
Options 1. A is true and B is false
2. Alis false and B is true
3. Both A and B are true but B is the correct explanation for A
4. Both A and B are true but B is not the correct explanation for A

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.16 Which of the following wind is an example of seasonal winds?
Options 1. Land breeze
2. Westerlies
3. Monsoon
4. Trade winds

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.17 Ifitis 6:30 PM in India, what will be the time in London?
Options 1. 12:00AM
2.12:30PM
3. 1:00AM
4. 1:00PM

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.18 A twelve year old child works in a glass manufacturing factory. Which Fundamental

Right is violated in this situation?

Options 1. Right to Equality

2. Cultural and Educational Rights
3. Right against Exploitation
4. Right to Freedom

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.19

Which assessment framework requires learning evidences collected from diverse
learning situations and regular and timely feedback for teachers planning their
teaching learning processes?

A. Assessment of Learning

B. Assessment for Learning

C. Assessment as Learning

D. Summative assessment

E. Formative Assessment

Options 1. Aand D

2.Band C
3.Cand E
4.Band E

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.20

Read statements A and B and select correct answer.

History plays an important role in social science curriculum. Which of the following
statement is correct regarding the nature of history?

A. Historical events are continuous and coherent.

B. Historical forces are neither linear not cyclical.

Options 1. Only B

2.0nly A
3.Aand B
4. Neither A nor B

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.21 Consider the statements A and B and choose the correct answer.

Statement A: Muhammad Tughluq was criticised for appointing a wine distiller, a
barber and a cook to high administrative posts

Statement B : This reflects the socio- economic stereotypes that may have been
prevalent in those times
Options 1. Both A and B are false
2. Both A and B are true but B is not the correct inference of A
3. Ais true but B is false, so B is not correct inference of A
4. Both A and B are true but B is the correct inference of A

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.22 Consider the following statements A and B and choose the correct option
A. Astronauts have to wear special protective space suit to survive on moon
B. There is no air pressure on moon and blood vessels of the astronauts would burst
because of counter pressure.
Options 1. Both A and B are true but B is not the correct explanation of A
2. Both A and B are false
3. Ais true but B is incorrect

4. Both A and B are true and B is the correct explanation of A

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.23 Which of the following are the purposes of assessment in Social Science :
A. To find out needs and learning style of every learner
B. Enhance effectiveness in teaching -learning process
C. Involve learners in process through peer and self assessment

D. Identify and segregate students on basis of abilities
Options 1. C only

2.Aand B

3.A,Band D

4.A,Band C

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.24 Which of the following social science questions provide a greater scope for
developing critical thinking skills?

A. In your village, town and city, who would you think are the marginalized groups?
Discuss.

B. What are population pyramids? How do they help in understanding the population
of a country?

C. Why is paddy grown in most of the Ganga- Brahmaputra plains?

D. Imagine that you are Marco Polo. Write a letter from China to describe the world of
print which you have seen there.
E. Examine the role of zamindar in Mughal and British administrations.
Options 1. B, C,Dand E
2.A,Dand E
3.A,B,CandD
4.A,Cand D

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.25 Ginning mill is a factory meant for processing of which of the following fibers?
Options 1. Cotton
2. Silk
3. Wool
4. Jute

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.26 Which of the following statements regarding the Indian Peninsular Plateau are
correct?

a) It is triangular in shape and its relief is highly uneven
b) It is a region with numerous hill ranges like Vindhyas and the Satpuras
c) Aravali hills, one of the oldest ranges of the world, border it on the north-east side

d) The west flowing rivers Narmada and the Tapi flow through this region
Options 1. b, cand d

2.a,b,andc

3.bandd

4.a,b,andd

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.27 Consider the following statements related to Indian Constitution and choose the
correct option.

Statement (A): Indian state ensures non interference in the religious practices and
respects sentiments of all religions

Statement (B) : There is no provision to provide educational rights to cultural and
linguistic minorities in the Indian Constitution.
Options 1. Both A and B are incorrect
2. Both A and B are correct
3. Alis correct and B is incorrect
4. Ais incorrect and B is correct

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.28 Which of the following activity would you plan as a project on 'Sahara Desert' that
students could do on their own ?

Options 1. Draw a map and locate Sahara Desert
2. Collect information on Sahara Desert and make class presentation.
3. Identify a resource person and make detailed notes from the talk
4. Visit to Sahara Desert and make observations

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.29 Mahatma Gandhi emphasised ' learning of crafts ' in education because :
A) It would make children completely independent
B) It would enable children to support their parents in earning a livelihood
C) It would develop mind and capacity to understand activities

D) It would lead to promotion of dignity and self respect
Options 1. Aand B
2.CandD
3.Band C
4.Band D

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.30

Based on the following lines associated with 'Pathshalas’, choose the correct
option:

"Teaching was oral and the guru divided what to teach in accordance with needs of
the students. Students were not separated out into different classes. The guru
interacted separately with groups of children with different levels of learning”

The above lines show that:

A) The transaction of education is unsystematic

B) The system is flexible

C) The system is suited to local needs

D) The teacher does not allow children to express their views

Options 1. B and D

2.Aand B
3.Band C
4. Aand D

Question Type : MCQ
Status : Answered
Chosen Option : 3

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1/CBSE212/CBSE212S12D23019/16425176878...

Q.31

Which of the following questions is least important while showing movie / part of
movie in the classroom?

Options 1. Does it present important social studies concept?

2. How will students demonstrate what they learn from movie ?
3. Does it entertain enough to hold the attention of students?
4. Is it providing enough material to pass the exam ?

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.32

Assessment of skill acquisition can be best done through the following :
A. Pen and paper test
B. Class and individual observation

C. Performance in a situation which requires use of the skill

Options 1. B

2.A
3.BandC
4. Aand B

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.33 The grading system used by the Mughals to fix rank, salary and military
responsibilities was known as:-

Options 1. Jagirdari system
2. Mansabdari system
3. Igtadari system
4. Zabt system

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.34 The word 'Dalit' means:
Options 1. Struggle

2. Broken

3. Revolutionaries

4. Excommunicated

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.35 The Revolt of Songram Sangma in 1906 took place because the tribal groups of

Options 1. Assam reacted against the colonial forest laws.
2. Manipur wanted to purse traditional rights.

3. Tripura insisted upon settling in forests areas.
4. Sikkim insisted upon getting land rights.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.36 A fortnightly newspaper, 'Khabar Lahriya", run by a group of women was initiated
from which of the following regions of Uttar Pradesh?

Options 1. Agra

2. Chitrakoot
3. Mirzapur
4. Jhansi

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Q.37 Consider the statements A and B and choose the correct answer.

Statement A: Students appreciate it if they are given deep and real information to
understand and explained social science concepts within the classroom

Statement B : While looking critically at an event or functioning of an institution, it is
important to give 'positive’' examples too lest it has a negative input on students’
tender mind

Options 1. Both A and B are false
2. Both A and B are true
3. Alis true and B is false
4. Ais false and B is true

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.38 Following are the statements regarding the planning of a field trip. What will be the
correct arrangement?

a) Prepare lesson to discuss the subject of the trip

b) Prepare a trip schedule that includes arrival and departure times, bathroom stops,
meals etc.

c) Prepare a preliminary instructions guide for students

d) Arrange a post- trip discussion
Options 1. a,c,d, b
2.a,¢,b,d
3.a,d,b,c
4.a,b,cd

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.39 The grand generalisations and the applicability of universal theories to explain the
human conditions were questioned under which approach of Geography?

Options 1. Regional analysis
2. Postmodernism

3. Spatial organisation
4. Marxism

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.40 Which country does not get covered by the Sahara desert?
Options 1. Tunisia

2. Libya

3. Mali

4. South Sudan

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.41 While formulating objectives for a social science lesson, the following needs to be
kept in mind.

The objective needs to :

A. state intended learning outcomes

B. be written from the learner's perspective

C. be stated in such a manner to avoid confusion

D. state the role of teacher
Options 1. Aand D

2.AandC

3.A,CandD

4.A,B,and C

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.42 Cauvery water dispute is between which of the following two states?
Options 1. Karnataka and Tamil Nadu
2. Karnataka and Andhra Pradesh
3. Kerala and Karnataka
4. Tamil Nadu and Kerala

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.43 Which skill is greatly enhanced in the study of Social Science using globe at
elementary level?

Options 1. Spatial
2. Cooperation
3. Communication
4. Reasoning

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.44 Read the statements (A) and (B) and choose the appropriate option given below.

Statement (A) - Joint sector industries are owned and operated by the state and
individuals or a group of individuals
Statement (B) - Amul is a joint sector industry
Options 1. Both A and B are false
2. Ais correct and B is false
3. Bis correct and A is false
4. Both A and B are correct

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.45 Children in a class refuse to share their food with a particular child as they think she
/ he is poor and dirty. This is a case of:-

Options 1. Coercion
2. Dominance
3. Stigma

4. Discrimination

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.46 Which method of soil conservation is most suitable in the coastal and dry region?
Options 1. Rock dam

2. Mulching

3. Shelter belts

4. Terrace farming

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.47 The Concurrent List of the Constitution was provided to:-
Options 1. concentrate power of the Union government

2. create a separate category of community responsibilities

3. give greater autonomy and freedom to the states

4. ensure joint responsibility between the Centre and the States

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.48 Chakhesang community who are into terrace cultivation belongs to which of the
following states ?

Options 1. Meghalaya
2. Mizoram
3. Manipur

4. Nagaland

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.49 The term primogeniture means:

Options 1. The eldest son inherits his father's estate

2. The resources of the group are owned by the leader

3. The resources of the group are owned by the group members
4. The estate is divided amongst all sons

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.50 Which statement is correctly stated, with reference to writing instructional objective
of cognitive domain

Options 1. Students will feel the concept of gender
2. Students will be able to know the names of five wild animals
3. Students will be able to explain the process of water cycle in their own words
4. Students will be able to understand the concept of solar system

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.51 Who has written the book named ' Gulamgiri ' ?
Options 1. Narayanaguru
2. E. V. Ramaswamy
3. B. R. Ambedkar
4. Jyotirao Phule

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.52 Periyar's Non -Brahmin movement was based on the ideology of
Options 1. respecting oneself first so that others will also give respect

2. doing exact opposite of what the scriptures say as a mark of protest against social
inequality.

3. freeing oneself from all religions as all inequalities were promoted as God-given
4. giving rise to a new religion which was inclusive and respectful of all people.

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.53 Which is the following statements is correct?
Options 1. Both Red Fort and Taj Mahal are made of sedimentary rocks
2. Both Red Fort and Taj Mahal is made of metamorphic rocks

3. Red Fort is made of sedimentary rocks whereas the Taj Mahal is made of Metamorphic
rocks

4. Red Fort is made of metamorphic rocks whereas Taj Mahal is made of sedimentary
rocks

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.54 Which activity is most effective to develop a sense of personal Geography in
students

Options 1. To plan daily trip to visit local park
2. To plan a weekly trip to visit local park
3. To arrange school playground according to the children's choices and interest.

4. To give students ownership of school garden and allow them to do according to their own
choices

Question Type : MCQ
Status : Answered
Chosen Option : 4
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Q.55 Which of the following is the chronologically correct order of annexation by East
India Company?

Options 1. South of Vindhyas, Afghanistan, Sind, and Punjab
2. South of Vindhyas, Sind, Afghanistan, and Punjab
3. Sind, South of Vindhyas, Afghanistan and Punjab
4. Sind, Afghanistan, South of Vindhyas and Punjab

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.56 The states of Assam, Nagaland, Mizoram and Arunachal Pradesh have a common
High Court at which of the following cities?

Options 1. Guwahati
2. ltanagar
3. Kohima
4. Aizawl

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.57 On which days do the equinox happen in India?
Options 1, 215t March and 23™ September

2. 215 June and 22" December

3. 215! March and 22" December

4. 215t June and 23 September

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.58 Match the columns and choose the appropriate option .
Column A Column B
a) Military Pay Masters i) Kotwals
b) Minister in charge of religious Patronage ii) Faujdars
c) Military Commanders iii) Bakshis

d) Town Police Commanders iv) Sadrs
Options 1. a-iv, b-iii, c-ii, d-i
2. a-ii, b-iv, c-iii, d-i
3. a-iv, b-ii, c-iii, d-i
4. a-iii, b-iv, c-ii, d-i

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.59 If a group of people prevent labourers from other States from working in their State.
Which Fundamental Right of the workers is violated?

Options 1. Right to Life
2. Right to Freedom
3. Right against exploitation
4. Right to Equality

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.60 Mushroom rocks are formed due to the erosional work of which of the following?
Options 1. Ice / Glaciers
2. Rivers
3. Sea Waves
4. Winds

Question Type : MCQ
Status : Answered
Chosen Option : 4

Section : Language |
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

Most of all would agree that it is admirable to be loyal. We
approve of loyalty to our friends and loyalty to our country.
Loyalty here means a readiness to help people when they are in
difficulty, and a constant interest in their well-being. It is very
clear when a person is being disloyal — when he lets his parents
suffer without showing any concern, or fights in any army
against his fellow countrymen. Most of us would disapprove of
such people.

However, there often arise situations in which it is harder to
decide if a person is being disloyal or not. A clever child may
resist his parent’s appeals to stop studying and pick up a job in
order to help them financially. He may believe that he will be
able to help his parents better in the near future if he continues
his studies for a few years longer, whereas, if he stops now, his
talent will be wasted. On the other hand, if a boy’s parents are in
great poverty, it might be disloyal for him to refuse to help them
by going to work. If later in life he is successful, he may regret
his disloyalty as a boy.

A more difficult problem sometimes is that of a man’s
relationship with the government of his country. A group of
people who sincerely love their country and are anxious for ifs
prosperity may disagree with their government because they
believe that certain policies or Acts (for example Rowlatt Act) of
the government are against the interests of the people. This
situation was faced by Indians when they were struggling for
freedom. We were immediately called rebels and traitors. Calling
us rebels might have been correct, but not traitors. We were truly
loyal to the interest of our fellow countrymen. We did not have
any selfish and personal interest.

SubQuestion No : 1

@1 We admire people who are :

(a) loyal to their parents.
(b)lovyal to their country.

(a) is right and (b) is wrong
(a) is wrong and (b) is right
Both (a) and (b) are right

Both (a) and (b) are wrong

il il

e

Options 1. 1
2.2
3.3
4.4

[ ]
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Question Type : MCQ
Status : Answered
Chosen Option : 2
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

Most of all would agree that it is admirable to be loyal. We
approve of loyalty to our friends and loyalty to our country.
Loyalty here means a readiness to help people when they are in
difficulty, and a constant interest in their well-being. It is very
clear when a person is being disloyal — when he lets his parents
suffer without showing any concern, or fights in any army
against his fellow countrymen. Most of us would disapprove of
such people.

However, there often arise situations in which it is harder to
decide if a person is being disloyal or not. A clever child may
resist his parent’s appeals to stop studying and pick up a job in
order to help them financially. He may believe that he will be
able to help his parents better in the near future if he continues
his studies for a few years longer, whereas, if he stops now, his
talent will be wasted. On the other hand, if a boy’s parents are in
great poverty, it might be disloyal for him to refuse to help them
by going to work. If later in life he is successful, he may regret
his disloyalty as a boy.

A more difficult problem sometimes is that of a man’s
relationship with the government of his country. A group of
people who sincerely love their country and are anxious for ifs
prosperity may disagree with their government because they
believe that certain policies or Acts (for example Rowlatt Act) of
the government are against the interests of the people. This
situation was faced by Indians when they were struggling for
freedom. We were immediately called rebels and traitors. Calling
us rebels might have been correct, but not traitors. We were truly
loyal to the interest of our fellow countrymen. We did not have
any selfish and personal interest.

SubQuestion No : 2

Q2 A Joyal person :

(1)helps a friend in need
(2)helps a friend only if he deserves it.
(3)takes interest in you only if vou are in a hospital.
(4)will join an enemy army to make money.
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

Most of all would agree that it is admirable to be loyal. We
approve of loyalty to our friends and loyalty to our country.
Loyalty here means a readiness to help people when they are in
difficulty, and a constant interest in their well-being. It is very
clear when a person is being disloyal — when he lets his parents
suffer without showing any concern, or fights in any army
against his fellow countrymen. Most of us would disapprove of
such people.

However, there often arise situations in which it is harder to
decide if a person is being disloyal or not. A clever child may
resist his parent’s appeals to stop studying and pick up a job in
order to help them financially. He may believe that he will be
able to help his parents better in the near future if he continues
his studies for a few years longer, whereas, if he stops now, his
talent will be wasted. On the other hand, if a boy’s parents are in
great poverty, it might be disloyal for him to refuse to help them
by going to work. If later in life he is successful, he may regret
his disloyalty as a boy.

A more difficult problem sometimes is that of a man’s
relationship with the government of his country. A group of
people who sincerely love their country and are anxious for ifs
prosperity may disagree with their government because they
believe that certain policies or Acts (for example Rowlatt Act) of
the government are against the interests of the people. This
situation was faced by Indians when they were struggling for
freedom. We were immediately called rebels and traitors. Calling
us rebels might have been correct, but not traitors. We were truly
loyal to the interest of our fellow countrymen. We did not have
any selfish and personal interest.

SubQuestion No : 3

Q3 A clever child’s first choice will be to :

(1)work hard to earn money

(2) give financial help to his parents
(3)ignore his parents’ advice to make a career
(4)obey his parents

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

Most of all would agree that it is admirable to be loyal. We
approve of loyalty to our friends and loyalty to our country.
Loyalty here means a readiness to help people when they are in
difficulty, and a constant interest in their well-being. It is very
clear when a person is being disloyal — when he lets his parents
suffer without showing any concern, or fights in any army
against his fellow countrymen. Most of us would disapprove of
such people.

However, there often arise situations in which it is harder to
decide if a person is being disloyal or not. A clever child may
resist his parent’s appeals to stop studying and pick up a job in
order to help them financially. He may believe that he will be
able to help his parents better in the near future if he continues
his studies for a few years longer, whereas, if he stops now, his
talent will be wasted. On the other hand, if a boy’s parents are in
great poverty, it might be disloyal for him to refuse to help them
by going to work. If later in life he is successful, he may regret
his disloyalty as a boy.

A more difficult problem sometimes is that of a man’s
relationship with the government of his country. A group of
people who sincerely love their country and are anxious for ifs
prosperity may disagree with their government because they
believe that certain policies or Acts (for example Rowlatt Act) of
the government are against the interests of the people. This
situation was faced by Indians when they were struggling for
freedom. We were immediately called rebels and traitors. Calling
us rebels might have been correct, but not traitors. We were truly
loyal to the interest of our fellow countrymen. We did not have
any selfish and personal interest.

SubQuestion No : 4

Q4 For his very poor parents a loval child will :

(1)sacrifice his studies.

(2) keep on studying to help his parents later.
(3) both work and study at the same time.
(4)tell his parents that he is helpless.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

Most of all would agree that it is admirable to be loyal. We
approve of loyalty to our friends and loyalty to our country.
Loyalty here means a readiness to help people when they are in
difficulty, and a constant interest in their well-being. It is very
clear when a person is being disloyal — when he lets his parents
suffer without showing any concern, or fights in any army
against his fellow countrymen. Most of us would disapprove of
such people.

However, there often arise situations in which it is harder to
decide if a person is being disloyal or not. A clever child may
resist his parent’s appeals to stop studying and pick up a job in
order to help them financially. He may believe that he will be
able to help his parents better in the near future if he continues
his studies for a few years longer, whereas, if he stops now, his
talent will be wasted. On the other hand, if a boy’s parents are in
great poverty, it might be disloyal for him to refuse to help them
by going to work. If later in life he is successful, he may regret
his disloyalty as a boy.

A more difficult problem sometimes is that of a man’s
relationship with the government of his country. A group of
people who sincerely love their country and are anxious for ifs
prosperity may disagree with their government because they
believe that certain policies or Acts (for example Rowlatt Act) of
the government are against the interests of the people. This
situation was faced by Indians when they were struggling for
freedom. We were immediately called rebels and traitors. Calling
us rebels might have been correct, but not traitors. We were truly
loyal to the interest of our fellow countrymen. We did not have
any selfish and personal interest.

SubQuestion No : 5
Q5 Which of the following statements is NOT false?

(1)Critics of a government are at once called rebels and
traitors.
(2) Such people are neither rebels nor traitors.
(3) A rebel is always a traitor.
(4)Only selfish people criticise the government.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ

Status : Answered
Chosen Option : 3
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

Most of all would agree that it is admirable to be loyal. We
approve of loyalty to our friends and loyalty to our country.
Loyalty here means a readiness to help people when they are in
difficulty, and a constant interest in their well-being. It is very
clear when a person is being disloyal — when he lets his parents
suffer without showing any concern, or fights in any army
against his fellow countrymen. Most of us would disapprove of
such people.

However, there often arise situations in which it is harder to
decide if a person is being disloyal or not. A clever child may
resist his parent’s appeals to stop studying and pick up a job in
order to help them financially. He may believe that he will be
able to help his parents better in the near future if he continues
his studies for a few years longer, whereas, if he stops now, his
talent will be wasted. On the other hand, if a boy’s parents are in
great poverty, it might be disloyal for him to refuse to help them
by going to work. If later in life he is successful, he may regret
his disloyalty as a boy.

A more difficult problem sometimes is that of a man’s
relationship with the government of his country. A group of
people who sincerely love their country and are anxious for ifs
prosperity may disagree with their government because they
believe that certain policies or Acts (for example Rowlatt Act) of
the government are against the interests of the people. This
situation was faced by Indians when they were struggling for
freedom. We were immediately called rebels and traitors. Calling
us rebels might have been correct, but not traitors. We were truly
loyal to the interest of our fellow countrymen. We did not have
any selfish and personal interest.

SubQuestion No : 6

Q6 What part of speech is the underlined word in the following

expression?
‘interest in their well-being’
(1) Adjective
(2)Determiner
(3)Adverb
(4) Conjunction
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ

Status : Answered
Chosen Option : 3
https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode 1//CBSE212/CBSE212S12D23019/16425176878125211/21153092...
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

Most of all would agree that it is admirable to be loyal. We
approve of loyalty to our friends and loyalty to our country.
Loyalty here means a readiness to help people when they are in
difficulty, and a constant interest in their well-being. It is very
clear when a person is being disloyal — when he lets his parents
suffer without showing any concern, or fights in any army
against his fellow countrymen. Most of us would disapprove of
such people.

However, there often arise situations in which it is harder to
decide if a person is being disloyal or not. A clever child may
resist his parent’s appeals to stop studying and pick up a job in
order to help them financially. He may believe that he will be
able to help his parents better in the near future if he continues
his studies for a few years longer, whereas, if he stops now, his
talent will be wasted. On the other hand, if a boy’s parents are in
great poverty, it might be disloyal for him to refuse to help them
by going to work. If later in life he is successful, he may regret
his disloyalty as a boy.

A more difficult problem sometimes is that of a man’s
relationship with the government of his country. A group of
people who sincerely love their country and are anxious for ifs
prosperity may disagree with their government because they
believe that certain policies or Acts (for example Rowlatt Act) of
the government are against the interests of the people. This
situation was faced by Indians when they were struggling for
freedom. We were immediately called rebels and traitors. Calling
us rebels might have been correct, but not traitors. We were truly
loyal to the interest of our fellow countrymen. We did not have
any selfish and personal interest.

SubQuestion No : 7

Q7 What part of speech is the underlined word in the following

sentence?
‘It is very clear’.

(1) Adjective
(2)Noun
(3)Adverb
(4)Determiner
Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
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Status : Answered
Chosen Option : 1
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

Most of all would agree that it is admirable to be loyal. We
approve of loyalty to our friends and loyalty to our country.
Loyalty here means a readiness to help people when they are in
difficulty, and a constant interest in their well-being. It is very
clear when a person is being disloyal — when he lets his parents
suffer without showing any concern, or fights in any army
against his fellow countrymen. Most of us would disapprove of
such people.

However, there often arise situations in which it is harder to
decide if a person is being disloyal or not. A clever child may
resist his parent’s appeals to stop studying and pick up a job in
order to help them financially. He may believe that he will be
able to help his parents better in the near future if he continues
his studies for a few years longer, whereas, if he stops now, his
talent will be wasted. On the other hand, if a boy’s parents are in
great poverty, it might be disloyal for him to refuse to help them
by going to work. If later in life he is successful, he may regret
his disloyalty as a boy.

A more difficult problem sometimes is that of a man’s
relationship with the government of his country. A group of
people who sincerely love their country and are anxious for ifs
prosperity may disagree with their government because they
believe that certain policies or Acts (for example Rowlatt Act) of
the government are against the interests of the people. This
situation was faced by Indians when they were struggling for
freedom. We were immediately called rebels and traitors. Calling
us rebels might have been correct, but not traitors. We were truly
loyal to the interest of our fellow countrymen. We did not have
any selfish and personal interest.

SubQuestion No : 8

Q8 Choose the word which is opposite in meaning to the word,

‘Constant’

(1) Temporary
(2)Permanent
(3)Variable
(4) Weak
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ

Status : Answered
Chosen Option : 3
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Comprehension:

Directions: Read the passage given below and answer the
questions that follow by choosing the correct / most appropriate
options.

Most of all would agree that it is admirable to be loyal. We
approve of loyalty to our friends and loyalty to our country.
Loyalty here means a readiness to help people when they are in
difficulty, and a constant interest in their well-being. It is very
clear when a person is being disloyal — when he lets his parents
suffer without showing any concern, or fights in any army
against his fellow countrymen. Most of us would disapprove of
such people.

However, there often arise situations in which it is harder to
decide if a person is being disloyal or not. A clever child may
resist his parent’s appeals to stop studying and pick up a job in
order to help them financially. He may believe that he will be
able to help his parents better in the near future if he continues
his studies for a few years longer, whereas, if he stops now, his
talent will be wasted. On the other hand, if a boy’s parents are in
great poverty, it might be disloyal for him to refuse to help them
by going to work. If later in life he is successful, he may regret
his disloyalty as a boy.

A more difficult problem sometimes is that of a man’s
relationship with the government of his country. A group of
people who sincerely love their country and are anxious for ifs
prosperity may disagree with their government because they
believe that certain policies or Acts (for example Rowlatt Act) of
the government are against the interests of the people. This
situation was faced by Indians when they were struggling for
freedom. We were immediately called rebels and traitors. Calling
us rebels might have been correct, but not traitors. We were truly
loyal to the interest of our fellow countrymen. We did not have
any selfish and personal interest.

SubQuestion No : 9

Q9  Choose the word which means the same as ‘resist’.

(1)oppose
(2) persist
(3) follow
(4)distinguish
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1
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Comprehension:

Directions : Read the extract given below and answer the questions that
follow by choosing the correct / most appropriate options :

A magpie robin in black tie

Conducts the morning music with his beak,
With the perking of his tail.

The sun is released from its dark net.
The robin picks up an insect

From the morning’s choice of breakfast.
Flying back to the branch

He gulps it.

To the tune of its struggling wings.
Soon children and horns

School bells and dogs

Join issue with silence

Of morning butterflies

SubQuestion No : 10

Q10 Why does the poet refer to the black neck of a magpie as a

black tie?

(1)1t is the black part of his body.

(2)He is going to produce music.

(3) Conductors of music wear a black tie.
(4)Dark night has just come to an end.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1/CBSE212/CBSE212S12D23019/16425176878125211/21153092... 38/68



1/23/22, 7:02 PM https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1/CBSE212/CBSE212S12D23019/16425176878...

Comprehension:

Directions : Read the extract given below and answer the questions that
follow by choosing the correct / most appropriate options :

A magpie robin in black tie

Conducts the morning music with his beak,
With the perking of his tail.

The sun is released from its dark net.
The robin picks up an insect

From the morning’s choice of breakfast.
Flying back to the branch

He gulps it.

To the tune of its struggling wings.
Soon children and horns

School bells and dogs

Join issue with silence

Of morning butterflies

SubQuestion No : 11

QM What has the sun come out of?

(1) A net that is black in colour
(2) A dark room

(3) The darkness of the night
(4) Very dark clouds

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Comprehension:

Directions : Read the extract given below and answer the questions that
follow by choosing the correct / most appropriate options :

A magpie robin in black tie

Conducts the morning music with his beak,
With the perking of his tail.

The sun is released from its dark net.
The robin picks up an insect

From the morning’s choice of breakfast.
Flying back to the branch

He gulps it.

To the tune of its struggling wings.
Soon children and horns

School bells and dogs

Join issue with silence

Of morning butterflies

SubQuestion No : 12

@12 How does the magpie enjoy his meal?

(a) He has many items available for his breakfast.
(b) Music is played when he is eating.

(1)(a) is right and (b) is wrong.
(2)(a) is wrong and (b) is right.
(3)Both (a) and (b) are right.
(4)Both (a) and (b) are wrong.
Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Comprehension:

Directions : Read the extract given below and answer the questions that
follow by choosing the correct / most appropriate options :

A magpie robin in black tie

Conducts the morning music with his beak,
With the perking of his tail.

The sun is released from its dark net.
The robin picks up an insect

From the morning’s choice of breakfast.
Flying back to the branch

He gulps it.

To the tune of its struggling wings.
Soon children and horns

School bells and dogs

Join issue with silence

Of morning butterflies

SubQuestion No : 13

Q13 What does the expression. ‘Join issue with silence’ mean?

(1)want others to be silent

(2)disturb the silence of the butterflies
(3)children and dogs can’t remain silent
(4) have been advised to keep quit
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Comprehension:

Directions : Read the extract given below and answer the questions that
follow by choosing the correct / most appropriate options :

A magpie robin in black tie

Conducts the morning music with his beak,
With the perking of his tail.

The sun is released from its dark net.
The robin picks up an insect

From the morning’s choice of breakfast.
Flying back to the branch

He gulps it.

To the tune of its struggling wings.
Soon children and horns

School bells and dogs

Join issue with silence

Of morning butterflies

SubQuestion No : 14

Q14 What figure of speech has been used in line 2?

(1)Personification
(2)Simile

(3) Metaphor

(4) Synecdoche
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Comprehension:

Directions : Read the extract given below and answer the questions that
follow by choosing the correct / most appropriate options :

A magpie robin in black tie

Conducts the morning music with his beak,
With the perking of his tail.

The sun is released from its dark net.
The robin picks up an insect

From the morning’s choice of breakfast.
Flying back to the branch

He gulps it.

To the tune of its struggling wings.
Soon children and horns

School bells and dogs

Join issue with silence

Of morning butterflies

SubQuestion No : 15

Q15 WWhat figure of speech has been used in line 4?7

(1) Metaphor
(2)Simile
(3)Synecdoche
(4) Alliteration
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.16 Which of the following statements is NOT true of reading?

We need to perceive and decode letters in order to read words.

We can read without necessarily being able to identity and decode single letters.

We don’t need to understand all the words in order to understand the meaning of a text
It does not necessarily take longer to read a text which has more symbols.

LR g

e

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.17  Ateacher asks her learners to listen to a whole narration about mountains twice and then asks them to recognise the
topic and sub topics, finding the main ideas and to evaluate the theme. What approach to listening does the teacher

advocate here?

1. Bottom up Model
2. Top down Model
3. Interactive Model
4. Communicative Model

Options 1. 1
2.
3.
4.

A OWN

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.18  Atext is divided into two parts. In Pairs one learner reads out the text to the other. One reads and her partner takes
dictation. Then the process is reversed. What is this activity knows as?

Mutual Dictation
Partial Dictation
Running Dictation
Grammar Dictation

B

Options 1.
2.
3.
4.

A WO N -

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q19 India’s language in education policy is knows as

1. Multilingual education
2. Three-language formula
3. Mother tongue medium education
4. Regional language education
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q.20 Stages involved in process approach to writing are

1. Brainstorming, outlining, drafting, revising. proof-reading and writing the final draft.
2. Brainstorming, revising, drafting outlining, proof-reading and writing the final draft.
3. Outlining, brainstorming, drafting, Proof-reading and writing the final draft.
4. Proof-reading, Brainstorming, Outlining and writing the final draft.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.21  There are two sentences. One is a simile and the other is a metaphor. Find which one is a metaphor and which one is
simile?

a. She sings like a nightingale.
b. She is nightingale

. ‘a’ is a metaphor and ‘b’ is a simile
. ‘a’is a simile and ‘b’ is a metaphor
. Both ‘a’ and ‘b’ are metaphor

. Both ‘a” and b’ are similes

Options 1.
2.
3.
4.

A O DN 2 pwo -

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.22  (Critical Pedagogy refers to

1. being critical of how language learning takes place.
2. alearner analysing issues and concepts rationally and coming to an informed understanding
3. make a learner to provide counter argument for issues and concepts
4. thinking alternative ways to solve a problem
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2
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Q23 | AP stands for

1. European Academic Policy
2. English Access for purposes
3. English for Academic Purpose
4. English Acquisition for Purpose
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.24 Which of the following is true of an ideal language syllabus?

1. Learning outcomes should aim at more than learning objectives
2. Learning objective should aim at more than learning outcomes.
3. Learning objective should align with learning outcomes
4. Learning objectives should be different from learning outcomes.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.25  Ateacher of class ITI writes the names of the objects in the language of learners and in English on a paper and pastes
them near the objects. What does she aim at here?

1. Teaching letters of alphabet

2. Teaching vocabulary

3. Creating language rich environment
4. Teaching early writing skills

Options 1. 1
2.
3.
4.

A WN

Question Type : MCQ
Status : Answered
Chosen Option : 3
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Q.26 A
Options 1.
2.

3.

4.

teacher collects instances of learning by learners as anecdote and later on uses them for assessing the learners for the

semester. What is this assessment known as?

. Record keeping

Portfolio assessment

Continuous comprehensive evaluation
. Anecdotal assessment

AW N 2 p e

Question Type : MCQ
Status : Answered

Chosen Option : 2

Q.27  Which one of the following sequential stages is a psycholinguistic model of language Production by a child?

1. Concepmalisation , formulation , articulation and self-monitoring
2. Formulation, conceptualisation , self-monitoring and articulation
3. Self-monitoring, formulation, articulation and conceptualisation

4. articulation . self-monitoring ., conceptualisation and Formulation

Options 1. 1

2.2

3.3

4.4
Question Type : MCQ

Status : Answered
Chosen Option : 3
Q.28 Which of the following approaches to learners teaching places collocations as one major aspect of language

development?

1. Structural approach

2. Communicative langnage teaching
3. Lexical approach

4. Multiple Intelligence

Options 1. 1

2.2

3.3

4.4
Question Type : MCQ

Status : Answered
Chosen Option : 2
Q.29

Teaching of drama should aim at promoting
1. activity
2. language for purposes
3. pragmatism
4. speaking and listening

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Status : Answered

Chosen Option : 4

https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode 1//CBSE212/CBSE212S12D23019/16425176878125211/21153092...

47/68



1/23/22, 7:02 PM https://cdn.digialm.com//per/g01/pub/223/touchstone/AssessmentQPHTMLMode1/CBSE212/CBSE212S12D23019/16425176878...

Q.30 Active vocabulary is
1. words we use in different contexts and understand their meanings and usages.

words we recognise in a text, but not easily produced in speech or writing

words we recognise and use when we are active

words and phrases which are abstract

w1

&

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Section : Language Il
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Comprehension:

TrATeTfiEgs Tt 3 U I9 0 AT F Had U It AT fawed
=l T

TR 97 O SR YT AT 237 2| 0TS 2 STae] I 3717
S SR o6 FTT T GoIre &7 § =t Fopd| | SO Heeaqo] a1
W?%mm?ﬁuﬁ%m%w%%ﬁaﬁmﬂmw
ST SATATIS | TTS SIS T 3 T Fel et S0 A I
HHEOT ST 21 T Tl 0T T 8 ST 2] ST T S e 2|
Wﬁﬁ&@ﬁmwu ﬁaﬂlgauw T ITeA 3 2
TETEHT T FUT ST HA-HETeHT S TZATIe S-AT ST 0

T I ST | TSR T O ST ot B R e = W
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g 2T =te|

SubQuestion No : 1

T SHTET ol AT T & —
|. STTeeh 9T

TR TTH T

3. FAT SR ST FART

4. FHIRAT FEFT S T

Q1

-2

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3
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